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1. a. 
Agreed in part.  Though medical students that do specialize in surgery do tend to receive large salaries when entering the workforce, to point to the high income as proof of the profitability of the profession may be misleading.  For one, the choice to attend medical school may be better conceptualized as a long-term investment, as the returns from the action will not be realized for a medical student until he or she finally enters the workforce and secures a salary.  Medical school can be costly, and the residencies and specialization do not provide potential doctors with a large amount of income.  However, once an income is secured, the “investment” in medical school may prove to be a very profitable one, as a surgeon’s is quite large and represents a significant rate of return over the initial investment (the initial investment of time, tuition, and lost wages due to schooling).


Additionally, a large salary is a poor indicator of profitability as other specializations (most notably pediatrics) also go on to make what would be considered by most (especially when compared to the national per-capita income) as sizable income.  However, net gain from the time and money investment in medical school for other specializations is not necessarily “extremely profitable,” as the money earned does not reflect the investment made in training.
b.
Agree in part.  In situations in which a patient’s cost in searching out prices is rather low, the decision to go with a particular doctor is dependent upon the quality and price of services provided by that doctor.  This “preference of style,” or the choice to go to a physician who focuses on quality or quantity (and therefore price), determines which physician a patient will choose to see.

But at the different levels of quality, we should see competition setting similar prices simply due to market forces (a patient, given the choice of two physicians of equal quality, will choose the less expensive one).
2. a. 
Demand inducement is the concept that, due to the lopsided levels of information between the physician and the patient (an “expert-client” relationship), the actual demand for medical care is partially or wholly driven by the physician (a form of agent-driven demand).  A patient, not being an expert and lacking total information, will generally accept the recommendation of a physician to undergo a particular form of treatment.  Variation in treatment rates could be explained by the presence of demand inducement, but are not necessarily so—it could be the result of some other factor.
b.
Demand inducement can play a role in explaining the existence of geographic variations in medical practice.  When choosing to go through with a particular treatment, a patient generally defers to the opinion of the physician.

This can be important when we combine this concept of demand inducement with the “schools of thought” explanation of geographic variations in medical practice.  If we accept that the opinion of the physician plays a large role in determining what the choices in medical treatment are going to be (which medical treatment to seek, or whether or not to proceed with a treatment at a particular level of illness or injury), it would follow that this “induced demand” would be visible depending on geographic location, as the physicians subscribing to a particular school of thought in an area are going to be driving the choices made in medical treatment.


To test for the presence of demand inducement, we need to show that the variations in medical care are not simply random variation (which would be expected), and that any patterns of variation present are not due to the choices of the patient or any other factor not associated with physicians’ demand inducement.  The fact that we do see geographic variation like we do does provide some indication—like-minded physicians in a particular “school of thought” are exhibiting their preferences in medical care (and thus inducing demand) by recommending particular treatments to patients.  Of course, to assume this, we’d have to demonstrate that the patients are playing little role in this variation.

3. a. 
St. Slow’s decision to focus on the production of lower-quality care means that St. Quick will likely choose to produce additional care of higher-quality care, and increase the total quantity of care produced.  On the graph, we can see this in the rotation of the line E to E’, which is a clockwise rotation, resulting in higher priced (and higher quality) care, and an increase in N, the quantity of care provided.
b.
The St. Quick administrators will be pleased with this change.  As both S (quality) and N (quantity) will be increasing, the PPF curve will be moving outward, reaching a higher utility curve.

